Vol 2 Issue 9 March 2013

Impact Factor : 0.1870

ISSN No :2231-5063

# Monthly Multidisciplinary Research Journal





Chief Editor Dr.Tukaram Narayan Shinde

Publisher Mrs.Laxmi Ashok Yakkaldevi Associate Editor Dr.Rajani Dalvi



# **IMPACT FACTOR : 0.2105**

# Welcome to ISRJ

### **RNI MAHMUL/2011/38595**

# **ISSN No.2230-7850**

Indian Streams Research Journal is a multidisciplinary research journal, published monthly in English, Hindi & Marathi Language. All research papers submitted to the journal will be double - blind peer reviewed referred by members of the editorial Board readers will include investigator in universities, research institutes government and industry with research interest in the general subjects.

# International Advisory Board

•	nternational Advisory bound	
Flávio de São Pedro Filho Federal University of Rondonia, Brazil Kamani Perera	Mohammad Hailat Dept. of Mathmatical Sciences, University of South Carolina Aiken, Aiken SC 29801	Hasan Baktir English Language and Literature Department, Kayseri
Regional Centre For Strategic Studies, S Lanka		Ghayoor Abbas Chotana Department of Chemistry, Lahore University of Management Sciences [ PK
Janaki Sinnasamy Librarian, University of Malaya [ Malaysia ]	Catalina Neculai University of Coventry, UK	] Anna Maria Constantinovici AL. I. Cuza University, Romania
Romona Mihaila Spiru Haret University, Romania	Ecaterina Patrascu Spiru Haret University, Bucharest	Horia Patrascu Spiru Haret University, Bucharest, Romania
Delia Serbescu Spiru Haret University, Bucharest, Romania	Loredana Bosca Spiru Haret University, Romania	Ilie Pintea, Spiru Haret University, Romania
Anurag Misra DBS College, Kanpur	Fabricio Moraes de Almeida Federal University of Rondonia, Brazil	Xiaohua Yang PhD, USA Nawab Ali Khan
Titus Pop	George - Calin SERITAN Postdoctoral Researcher	College of Business Administration
	Editorial Board	
Pratap Vyamktrao Naikwade ASP College Devrukh,Ratnagiri,MS Indi	Iresh Swami ia Ex - VC. Solapur University, Solapur	Rajendra Shendge Director, B.C.U.D. Solapur University, Solapur
R. R. Patil Head Geology Department Solapur University, Solapur	N.S. Dhaygude Ex. Prin. Dayanand College, Solapur	R. R. Yalikar Director Managment Institute, Solapur
Rama Bhosale Prin. and Jt. Director Higher Education, Panvel	Narendra Kadu Jt. Director Higher Education, Pune K. M. Bhandarkar	Umesh Rajderkar Head Humanities & Social Science YCMOU, Nashik
Salve R. N. Department of Sociology, Shivaji University, Kolhapur	Praful Patel College of Education, Gondia Sonal Singh Vikram University, Ujjain	S. R. Pandya Head Education Dept. Mumbai University, Mumbai
Govind P. Shinde Bharati Vidyapeeth School of Distance Education Center, Navi Mumbai	G. P. Patankar S. D. M. Degree College, Honavar, Karnataka	Alka Darshan Shrivastava a Shaskiya Snatkottar Mahavidyalaya, Dhar
	Maj. S. Bakhtiar Choudhary	Rahul Shriram Sudke

Ph.D.-University of Allahabad

Director, Hyderabad AP India.

S.Parvathi Devi

Ph.D , Annamalai University, TN

Devi Ahilya Vishwavidyalaya, Indore

Awadhesh Kumar Shirotriya Secretary, Play India Play (Trust),Meerut Sonal Singh

Chakane Sanjay Dnyaneshwar Arts, Science & Commerce College,

Indapur, Pune

Satish Kumar Kalhotra

S.KANNAN

Address:-Ashok Yakkaldevi 258/34, Raviwar Peth, Solapur - 413 005 Maharashtra, India Cell : 9595 359 435, Ph No: 02172372010 Email: ayisrj@yahoo.in Website: www.isrj.net

Golden Research Thoughts Volume 2, Issue. 9, March. 2013 ISSN:-2231-5063

Available online at www.aygrt.isrj.net

**ORIGINAL ARTICLE** 



# STUDY OF MENTAL HEALTH AMONG PUPIL TEACHERS IN THE COLLEGES OF EDUCATION IN JAMMU REGION.

SHIVALI BAJAJ

#### Abstract:

The aim of the present investigation was to explore the Mental Health amongst the pupil teachers studying in various B. Ed colleges in Jammu Division of State of Jammu & Kashmir. The sample comprised of 800 pupil teachers drawn out of 16 different B. Ed colleges within the Jammu Division. The results indicated that there was a significant difference in scores falling under the different areas of Mental Health i.e. (Depression, inferiority, anxiety) among the pupil teachers belonging to different levels of sex, locality and type of parental occupation.

#### **KEYWORDS:**

Mental Health, Pupil teachers, B.Ed Colleges.

#### **INTRODUCTION:**

Ill health of body or mind is defeat....health alone is victory. Let all men, if they can manage it contrive to be healthy."- Scott. There is a popular saying in Sanskrit "Aarogyam Paramo Sanskrit" i.e. health is the greatest blessing of all. But it is a matter of regret that many of us do not know what it means. We know it only by its reverse as disease, ill-health and misery. The expression "Mental Health" consists of two words- 'Mental' and 'Health'. Here 'Health' generally means sound conditions or well being or freedom from diseases .Mental health, therefore, means a sound mental condition or a state of psychological well being of freedom from mental disease (Singh, 2004). Health has two factors physical & the mental. The physical state of health is one where an individual enjoys freedom from physical disease, has reasonable degree of physical strength and is capable of normal work without any undue fatigue. Today everyone feels that he is mentally maladjusted in the environment he encounters. Life itself has become a challenge. Economic disparities, atomic adventures, political rivalries are impinging upon the mental health of almost every man's mind and the same is subjected to severe stress and strains. The chief characteristic of mental health is adjustment. The greater the degree of successful adjustment, the greater will be the mental health of the individual. Lesser mental health will lead to lesser adjustment and greater conflict. Science has helped us to prevent, cure and control almost all the physical diseases but it has added to our mental disorders and disturbances. Ironically, research also indicates that there is now an increase in mental health problems such as depression among college and university students including all categories of trainee teachers (Benton et al., 2003; Shute, 2007). Previous research on students' mental health problems has focused mainly on depression (Gavin, 2004; Bouteyre et al., 2007); anxiety (Head & Lindsey, 1983; Eller et al., 2006); and stress (McKean & Misra, 2000; Burnard et al., 2007a; b). The amount and frequency of anxiety and stress were higher than those for depression (Vaidya & Mulgaonkar, 2007). In addition

depression, anxiety and stress were more prevalent in female students than males (McKean & Misra, 2000; Eller et al., 2006; Dyrbye et al., 2006). Brunei, recent research by Mundia (2010) showed that a few trainee

Title: STUDY OF MENTAL HEALTH AMONG PUPIL TEACHERS IN THE COLLEGES OF EDUCATION IN JAMMU REGION...Source:Golden Research Thoughts [2231-5063] SHIVALI BAJAJ yr:2013 vol:2 iss:9



2

teachers may have mild to moderate mental health difficulties. The student teachers attempt to resolve these issues using a wide range of coping strategies some of which, e.g. emotion-oriented coping style, are less effective (Mundia, 2010)

Good mental health is an index of psychological wellbeing desirable to all people including student teachers. To prevent and protect children from being exposed to teachers with poor mental health, trainee teachers might need to be screened for psychological wellbeing. A mentally healthy person takes correct decisions and acts intelligently. Whenever a sign of mental disease appears or depression sets in, the memory also suffers. Absence of the loss of memory denotes mental health. People suffer more from mental than physical disease. Therefore care of mind is of utmost importance. After all it is the mind which controls the body. If its controller is not healthy, how can the body be healthy?

"A State of complete physical mental and social well being and not merely the absence of diseases." It is related to the promotion of well being, the prevention of mental disorders and the treatment and rehabilitation of people affected by mental disorder. Ferguson et.al; (1965) stated that mental health is the ability to cope with ones environment in such a way that one's instinctual drives are gratified.

#### **OBJECTIVES**

1.To find out differences in mental health among pupil teachers under the main effects of sex, locality and occupation when studied separately and under the joint influence of sex x locality, sex x occupation, locality x occupation, sex x locality x occupation when studied separately.

#### METHODOLOGY

#### Sample

The total sample consisted of 800 pupil-teachers studying in 16 different B. Ed Colleges in Jammu Division of J & K State. A list of the students studying in each college was prepared and 50 students were selected by systematic random sampling from each college.

#### Tool

The Mental Health scale as constructed & standardized by Mental Health questionnaire was constructed by Dr.H.P.Mangotra. This questionnaire consists of seven areas and was selected & used by the investigator for collection of reliable data for the present study.

#### **Data Collection**

The investigator personally visited the colleges and administered the tool with clear instructions on answering the questions.

 Data regarding marked variables i.e. gender, locality, type of parental occupation were collected from pupil teachers of different B.Ed colleges.
 Data regarding Mental Health among pupil teachers were collected.

#### Statistical techniques

The data obtained was treated statistically by using appropriate statistical measures like Three Way Anova and t-test suiting to the requirements of data and objectives of the study.

#### **RESULTS AND DISCUSSION**



Table 1: Summary of results based on mental health (security – insecurity) scores in relation to different levels of sex, locality and occupation in 2x2x3 factorial design

Sources of Variance	SS	Df	MS	F
Variable A	52.01	1.00	52.01	3.40**
Variable B	49.41	1.00	49.41	3.23**
Variable C	38.45	2.00	19.23	1.26 **
AxB	1.41	1.00	0.70	0.05 **
AxC	17.12	2.00	17.12	1.12 **
BxC	30.52	2.00	30.52	2.00 **
AxBxC	4.72	2.00	2.36	0.15 **
Within	1650.70	108.00	15.28	

\*\*Not Significant

\*\*Not Significant

3

The F-ratio for table No.1 revealed that mental health (security -insecurity) scores of variables viz., A, B, C i.e. sex, locality and occupation were found to be insignificant. The F-ratio for interaction between sex and locality (A x B), sex and occupation (A x C) locality

and occupation (B x C) and sex, locality and occupation (A x B x C) were also found to be insignificant.

Table 2: Summary of results based on mental health (neurotic behaviour) scores in relation to different levels of sex, locality and occupation in 2x2x3 factorial design

Sources of Variance	SS	Df	MS	F
Variable A	64.53	1.00	64.53	2.99**
Variable B	16.13	1.00	16.13	0.75 **
Variable C	19.95	2.00	9.98	0.46 **
AxB	0.83	1.00	0.42	0.02 **
Ax C	23.12	2.00	23.12	1.07 **
Bx C	52.22	2.00	52.22	2.42 **
A xBx C	77.72	2.00	38.86	1.80 **
Within	2331.20	108.00	21.59	



The F-ratio for table No.2 revealed that mental health (neurotic behaviour) scores of variables viz., A, B, C i.e. sex, locality and occupation were found to be insignificant.

The F-ratio for interaction between sex and locality (A x B), sex and occupation (A x C) locality and occupation (B x C) and sex, locality and occupation (A x B x C) were also found to be insignificant.

Sources of Variance	SS	Df	MS	F
Variable A	57.41	1.00	57.41	2.90**
Variable B	12.68	1.00	12.68	0.64**
Variable C	43.12	2.00	21.56	1.09 **
AxB	2.41	1.00	1.20	0.06 **
AxC	65.62	2.00	65.62	3.31 *
BxC	87.05	2.00	87.05	4.40 *
AxBxC	116.82	2.00	58.41	2.95 **
Within	2138.70	108.00	19.80	

Table 3: Summary of results based on mental health (depression) scores in relation to different levels of sex, locality and occupation in 2x2x 3 factorial design

\*Significant

\*\*Not Significant

The F-ratio for table No.3 revealed that mental health (depression) scores of variables viz., A, B, C i.e. sex, locality and occupation were found to be insignificant.

The F-ratio for table No.3 further revealed that mental health (depression) scores for interaction between sex and occupation (A x C) and locality and occupation (B x C) were found to be significant whereas sex and locality (A x B) was found to be insignificant. The second order interaction between sex, locality and occupation (A x B x C) was also found to be insignificant. The t- test was applied to the data obtained and the mean scores so obtained are given in the table no.3.1.

#### Table 3.1: Showing mean scores of mental health (depression) for different pairs

S. No	Pa	irs	1	Means	t-ratio
1	<u>A1C1</u> A1C2	<u>A2C1</u> A2C2	<u>3.43</u> 4.50	$\frac{5.63}{5.27}$	15.28
2	<u>A1C1</u> A1C3	<u>A2C1</u> A2C3	<u>3.43</u> 5.60	$\frac{5.63}{5.40}$	25.58
3	A1C2 A1C3	A2C2 A2C3	$\frac{4.50}{5.60}$	<u>5.27</u> 5.40	10.30
4	<u>B1C1</u> B1C2	<u>B2C1</u> B2C2	<u>4.97</u> 3.93	$\frac{4.10}{5.83}$	29.49
5	<u>B1C1</u> B1C3	<u>B2C1</u> B2C3	$\frac{4.97}{5.37}$	$\frac{4.10}{5.63}$	12.08
6	B1C2	B2C2	<u>3.93</u>	<u>5.83</u>	17.41

		B1C3	B2C3	5.37	5.63				
					1	1	1	1	
Golden Research Though	nts • Volume 2 Is	ssue 9 • M	arch 2013					4	



5

 Table 4: Summary of results based on mental health (inferiority) scores in relation to different levels of sex, locality and occupation in 2x2x3 factorial design

Sources of Variance	SS	Df	MS	F
Variable A	60.21	1.00	60.21	3.71**
Variable B	21.68	1.00	21.68	1.34 **
Variable C	58.55	2.00	29.27	1.80 **
AxB	0.41	1.00	0.20	0.01 **
Ax C	108.32	2.00	108.32	6.68 *
BxC	49.55	2.00	49.55	3.05 **
A xBx C	30.72	2.00	15.36	0.95 **
Within	1751.90	108.00	16.22	

\*Significant

\*\*Not Significant

The F-ratio for table No.4 revealed that mental health (inferiority) scores of variables viz., A, B, C i.e. sex, locality and occupation were found to be insignificant. The F-ratio for table No.4 further revealed that mental health (inferiority) scores for interaction between sex and occupation (A x C) were found to be significant whereas the other F- ratios were found to be insignificant. The t- test was applied to the data obtained and the mean scores so obtained are given in the table no.4.1.

### Table 4.1: Showing mean scores of mental health (inferiority) for different pairs

S. No	Pa	irs	Me	ans	t-r atio
1	<u>A1C1</u> A1C2	<u>A2C1</u> A2C2	<u>4.33</u> 5.90	<u>7.07</u> 5.87	32.58
2	<u>A1C1</u> A1C3	<u>A2C1</u> A2C3	<u>4.33</u> 6.70	7.07 6.83	30.62
3	<u>A1C2</u> A1C3	<u>A2C2</u> A2C3	<u>5.90</u> 6.70	<u>5.87</u> 6.83	1.96



6

 Table 5: Summary of results based on mental health (frustration) scores in relation to different levels of sex, locality and occupation in 2x2x3 factorial design

Sources of Variance	SS	Df	MS	F
Variable A	0.53	1.00	0.53	0.02**
Variable B	97.20	1.00	97.20	4.16 *
Variable C	147.22	2.00	73.61	3.15 **
AxB	0.83	1.00	0.42	0.02 **
AxC	32.62	2.00	32.62	1.40 **
BxC	31.65	2.00	31.65	1.36 **
AxBxC	47.52	2.00	23.76	1.02 **
Within	2522.40	108.00	23.36	
*Significant	1	**NI	t Significant	

\*Significant

\*\*Not Significant

The F-ratio for table no.5 revealed that mental health (frustration) scores for variable B i.e. locality were found to be significant whereas the other F-ratio were found to be insignificant.

The t- test was applied to the data obtained and the mean scores so obtained are given in the table no.5.1.

 Table 5.1:Showing mean scores of mental health (frustration) for different pairs

S. No	Pairs	Means	t-r atio
1	B1	13.28	2.49
2	B2	15.08	

Table 6: Summary of results based on mental health (anxiety) scores in relation to different levels of sex, locality and occupation in 2x2x 3 factorial design.



7

Sources of Variance	SS	Df	MS	F
Variable A	33.07	1.00	33.07	1.44**
Variable B	5.21	1.00	5.21	0.23 **
Variable C	4.65	2.00	2.32	0.10 **
AxB	3.01	1.00	1.50	0.07 **
AxC	99.05	2.00	99.05	4.31 *
BxC	22.82	2.00	22.82	0.99 **
A xBx C	4.62	2.00	2.31	0.10 **
Within	2480.70	108.00	22.97	
* 0				•

\*Significant

\*\*Not Significant

The F-ratio for table No.6 revealed that mental health scores (anxiety) for interaction between sex and occupation (A x C) were found to be significant whereas the other F –ratio were found to be insignificant.

The t- test was applied to the data obtained and the mean scores so obtained are given in the table no.6.1.

Table 0.1: Showing mean scores of mental health (anxiety) for unferent pair	Table 6.1:	Showing mean scores of mental health (	(anxiety) for different pairs
---	------------	--	-------------------------------

S. No	Pairs		Means		t-r atio	
1	A1C1	A2C1	3.57	<u>5.73</u>	29.36	
	A1C2	A2C2	4.80	4.00		
2	<u>A1C1</u>	<u>A2C1</u>	<u>3.57</u>	<u>5.73</u>	14.19	
	A1C3	A2C3	4.33	5.07		
3	A1C2	A2C2	4.80	4.00	15.18	
	A1C3	A2C3	4.33	5.07		

 Table 7: Summary of results based on mental health (adjustment) scores in relation to different levels of sex, locality and occupation in 2x2x3 factorial design.



Sources of Variance	SS	Df	MS	F
Variable A	163.33	1.00	163.33	11.32*
Variable B	12.03	1.00	12.03	0.83 **
Variable C	33.07	2.00	16.53	1.15 **
AxB	4.80	1.00	2.40	0.17 **
AxC	29.07	2.00	29.07	2.01 **
BxC	39.47	2.00	39.47	2.74 **
AxBxC	2.40	2.00	1.20	0.08 **
Within	1558.20	108.00	14.43	
		•	•	

\*Significant

\*\*Not Significant

The F-ratio for table No.7 revealed that mental health (adjustment) scores for variable A i.e. sex were found to be significant. The F- ratios for all other variables were insignificant individually as well as under joint influence as per table no. 7. The t- test was applied to the data obtained and the mean scores so obtained are given in the table no.7.1.

# Table 7.1: Showing mean scores of mental health (adjustment) for different pairs

S. No	Pairs	Means	t-r atio	
1	A1	5.22	3.36	
2	A2	7.55		

# CONCLUSIONS

There was no difference in the mental health (security- insecurity, neurotic behavior, depression, inferiority and anxiety) of the pupil teachers belonging to different levels of sex (A), locality (B) and occupation (C). However there was difference in the mental health (frustration, adjustment) among pupil teachers belonging to different levels of sex (A), locality (B) and occupation (C). Even the joint influence of mental health (depression, inferiority, anxiety) of different levels of variables viz.sex x occupation and mental health (inferiority) of locality x occupation did report a difference in the attribution style of pupil teachers.

# REFERENCES

Bouteyre, E., Maurel, M., & Bernand, J-L. (2007). Daily hassles and depressive symptoms among first year psychology students in France: The role of coping and social support. Stress and Health, 23, 93-99. March. Burnard, P., Bennett, K., Edward, D., Rahim, T. A., Tothova, V., Baldacchino, D., Bara, P., & Mytevelli, J.(2007a). A comparative longitudinal study of stress in student nurses in five countries: Albania, Brunei, the Czech Republic, Malta and Wales. Nurse Education Today, 6 June 2007.

Dyrbye, L. N., Thomas, M. R., & Shanafelt, T. D. (2006). Systematic review of depression, anxiety and other indicators of psychological distress among U.S. and Canadian medical students. Acad Med, 81(4), 354-373.

Golden Research Thoughts • Volume 2 Issue 9 • March 2013

8



9

Eller, T., Aluoja, A., Vasar, V., & Veldi, M. (2006). Symptoms of anxiety and depression in Estonian medical students with sleep problems. Depression Anxiety. 23 (4), 250-256.

Ferguson, C. A. et. al. (1965): The Legacy of Neglect: "An appraisal of the Implications of Emotional Disturbances" in the Business Environment Taxas, Industrial Mental Health Associates.

Gavin, K. (2004). Public document released at the depression on college campuses conference organized by the University of Michigan Health System, 9-10

Head, L. G., & Lindsey, J. D. (1983). Anxiety and the university student: A brief review of the professional literature. College Student Journal, 17(2), 176-182.

McKean, M., & Misra, R. (2000). College students' academic stress and its relation to their anxiety, time management and leisure satisfaction. American Journal of Health Studies, Winter Issue, 1-14.

Mundia, L. (2010). Brunei trainee teachers' coping strategies for stressful situations. International Journal of Psychological Studies, 2 (1), 79-88.

Shute, N. (2007). Mental health problems common on college campuses. [Online] http://health.usnews.com/usnews/health/articles/070417/17vatech.mental health.htm (December 10, 2009).

Singh, A and Walia, G.S. (2004), 'Health and Physical Education', Vinod publications, Ludhiana

Vaidya, P. M., & Mulgaonkar, K. P. (2007). Prevalence of depression, anxiety and Stress in undergraduate medical students and its correlation with their academic performance. Indian Journal of Occupational Therapy, 39 (1), 7-10.



# Publish Research Article International Level Multidisciplinary Research Journal For All Subjects

Dear Sir/Mam,

We invite unpublished research paper.Summary of Research Project,Theses,Books and Books Review of publication,you will be pleased to know that our journals are

# Associated and Indexed, India

- ★ International Scientific Journal Consortium Scientific
- \* OPEN J-GATE

# Associated and Indexed, USA

- EBSCO
- Index Copernicus
- Publication Index
- Academic Journal Database
- Contemporary Research Index
- Academic Paper Databse
- Digital Journals Database
- Current Index to Scholarly Journals
- Elite Scientific Journal Archive
- Directory Of Academic Resources
- Scholar Journal Index
- Recent Science Index
- Scientific Resources Database

258/34 Raviwar Peth Solapur-413005,Maharashtra Contact-9595359435 E-Mail-ayisrj@yahoo.in/ayisrj2011@gmail.com Website : www.isrj.net